sa

Rsa (mm)

1.26 0.96 0 5.38 1.37 42.83 51.80
(km2)

2.4 1.8 0 104 2.6 82.7 100
(%)

271 0.46 2.77 11.97 1.17 75.94 95.00
(km2)

2.9 0.5 2.9 12.6 1.2 79.9 100
(%)

78.82 5.33 20.97 76.65 4.90 313.23 499.90
(km2)

15.8 11 4.2 15.3 1.0 62.7 100

(%)




Rsa

fl
0.80 0.30 0.00
Rsa (mm)
55 300 50 150
Rsa
Rsa =< f1
300mm
55mm - 150mm
50mm f1
% 1-f1
(mm)




Rsa

55% (1-0.80)>< 0.024 = 0.264mm
300> (1-0.30)><  0.018 = 3.780mm
50> (1-0.00)>< : 0.104 = 5.200mm
300> (1-0.30)> . 0.000 = 0.000mm
50> (1-0.00)> 0.026 = 1.300mm
150> (1-0.30)>< 0.827  =86.835mm

97.379mm

Rsa

55> (1-0.80)> . 0.029 = 0.319mm
300> (1-0.30)>< = 0.005 = 1.050mm
50> (1-0.00)>= : 0.126 = 6.300mm
300> (1-0.30)>< @ 0.029 = 6.090mm
50> (1-0.00)>= : 0.012 = 0.600mm
150> (1-0.30)>< 0.799 = 83.895mm

98.254mm

Rsa

55> (1-0.80)> : 0.153 = 1.738mm
300> (1-0.30)>< . 0.011 = 2.310mm
50> (1-0.00)>< : 0.153 = 7.650mm
300> (1-0.30)>< = 0.042 = 8.820mm
50> (1-0.00)>< : 0.010 = 0.500mm
150> (1-0.30)>< | 0.627 = 65.835mm

86.853mm




H8.8.26 H16.10.18
(mm)
8.8.26 112.3 80.1 —
16.10.18 65.5 36.2 37.4
Rsa
Rsa><
Rsa

Rsa




HB8.8.26

Rsa(mm)
55 =< 112.3 97.3719 = 63
300 < 112.3 97.379 = 346
50 < 112.3 97.3719 = 58
150 < 112.3 97.379 = 173
55 < 80.1 98.254 = 45
300 < 80.1 98.254 = 245
50 < 80.1 98.254 = 41
150 >< 80.1 98.254 = 122
H16.10.18
Rsa(mm)
55 < 65.5 97.3719 = 37
300 =< 65.5 97.379 = 202
50 < 65.5 97.3719 = 34
150 =< 65.5 97.379 = 101
55 < 36.2 98.254 = 20
300 < 36.2 98.254 = 111
50 < 36.2 98.254 = 18
150 >< 36.2 98.254 = 55
55 < 37.4 86.853 = 24
300 < 37.4 86.853 = 129
50 < 37.4 86.853 = 22
150 < 37.4 86.853 = 65
(mm)
8.8.26 190 207
154 204
271 551 2904
16.10.18
246 567 3009
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51.8 km’

Rsa( )
No (nm) (%) (mm) (mm) ) (mm)
001] S 62| 7| 17]19| 6]21| O 102.8| 4256064 82.2 20.6 79.9 29.5
002] S 63| 6| 1] 1|24| 4|15 159.9] 5899716 113.9 46.0 71.2 65.7
003] H 1] 9 1] 2|22| 4|10 102.9] 3796416 73.3 29.6 71.2 42.3
004] H 2| 9| 16]19| 9| 21| 9 125.6] 3574548 69.0 56.6 55.0 80.8
005] H 4| 8| 17]19|17] 20|20 66.2|] 1784196 34.4 31.8 52.0 45.4
006| H 5| 6| 28]29|15| 1|19 152.6] 5349204 103.3 49.3 67.7 70.4
007] H 5| 6| 28] 4/19] 6| 7 89.5] 3039120 58.7 30.8 65.6 44.0
008| H 5| 8| 1] 2|21| 4| 3 95.9] 3511260 67.8 28.1 70.7 40.1
009] H 5| 8| 13]14|10]16| 1 91.9] 2304072 44 .5 47.4 48.4 67.7
010] H 7| 5| 10])11|17|13|16 137.5] 3991428 77.1 60.4 56.1 86.3
011} H 7| 7, 2| 3| 6] 6|19 137.5] 6354180 122.7 14.8 89.2 21.1
012] H 8| 8| 26]27| 8|30| 8 243.5] 6795504 131.2 112.3 53.9 160.4
013] H 9| 7, 9]10| 3|J11] O 32.2] 1502712 29.0 3.2 90.1 4.6
014] H 9| 8| 4] 5 7| 6] 2 62.6] 3023712 58.4 4.2 93.2 6.0
015| H 9| 9| 12]16|22|17|18 67.2 706680 13.6 53.5 20.3 76.5
016] H 10| 9| 21]22| 9] 22|22 131.9] 2605248 50.3 81.6 38.1 116.6
017| H 10|10| 13])17| 0}19|10 144 .21 6172956 119.2 25.1 82.6 35.8
018| H 11| 6| 23]|29| 8] 1|17 165.0] 7530912 145.4 19.6 88.1 28.0
019| H 11| 9| 14]14|23|16| 6 103.6] 1904742 36.8 66.8 35.5 95.4
020] H 15| 7| 12|14|13|14|18 62.1] 1749336 33.8 28.4 54.3 40.5
021| H 15| 8| 13]14| 10| 16|12 104.9] 2892891 55.8 49.1 53.2 70.1
022] H 16| 8| 30]30|21]31|20 51.3 424542 8.2 43.1 16.0 61.6
023| H 16| 9| 28] 28|22 1|12 130.5] 3380037 65.3 65.2 50.0 93.2
024| H 16| 10| 18]20| 9| 21|11 181.1] 5986105 115.6 65.5 63.8 93.6
f=
Rsa=(1-f) (1-f1)>
400.0
350.0 1
1=0.3 S
300.0 fsa=1.0 \ ’
Rsa=50mm / i
250.0 »
P ¢
g 2
200.0 £
/,' 1=0.3
P fsa=1.0
/' ’ Rsa=61.48mm
150.0 Hi1.6 7
HZ/ ',’ o 188
(1090 4863£ H16.10
100.0 s "*‘HS.G.ZS—I
H578.1 @ _7.‘ H7.5
Hg.8 P -Zg'i}?/' ‘AH%lge.g
50.0 HA.SQ'RJ%AM“HN'Q
Ho .
H% ‘ H11.9
H16.8 + g HO.9
0.0
0.0 50.0 100.0 150.0 200.0 250.0 300.0 350.0 400.0

(mm)




95.0 km?

Rsa( )
No (mm) (m) (mm) (mm) (D) (mm)
001] S 62| 7| 17
002] S 63 6| 1
003] H 1] 9 1
004] H 2| 9| 16
005| H 4| 8] 17
006] H 5| 6| 28]29|16| 2| O 128.6] 9351432 98.4 30.2 76.5 43.1
007| H 5| 6| 28
008] H 5| 8| 1| 2|19| 4| 1 87.2| 4848336 51.0 36.1 59 51.6
009 H 5| 8| 13]14|15|16| 3 84.2| 5395392 56.8 27.4 67 39.2
010] H 7| 5| 10|11|15f14| 3 157.2| 11732328 123.5 33.7 79 48.2
011} H 7| 7| 2| 3| 8] 6] 5 133.9| 9416016 99.1 34.8 74 49.7
012] H 8| 8| 26/27| 3|30|18 206.7] 12023964 126.6 80.1 61 114.4
013] H 9] 7| 9]10| 5|12 2 74.1] 3586716 37.8 36.4 51 52.0
014] H 9| 8| 4| 5| 7| 6|17 86.6] 6997428 73.7 13.0 85 18.5
015] H 9| 9| 12|16|22|17|22 56.3| 2166156 22.8 33.5 41 47.9
016] H 10| 9| 21]22| 8|23|18 130.5] 4524480 47.6 82.8 37 118.3
017] H 10| 10| 13]16| 10| 18|22 176.4] 13673268 143.9 32.5 82 46.4
018] H 11| 6| 23| 29| 9|30|17 187.0f 15136193 159.3 27.7 85 39.5
019] H 11| 9| 14]14|20]| 16|19 100.8] 4043808 42.6 58.3 42 83.2
020 H 15| 7| 12]13| 14| 14|23 55.1] 2758212 29.0 26.1 52.7 37.2
021] H 15| 8| 13| 14| 20| 16|21 104.1| 6061554 63.8 40.3 61.3 57.6
022] H 16| 8| 30|30|20f 1|11 74.1] 2602224 27.4 46.7 37.0 66.7
023| H 16| 9| 28]29| 5| 1|10 131.8] 6527016 68.7 63.1 52.1 90.1
024] H 16| 10| 18]20| 6]21|12 173.3] 13018626 137.0 36.2 79.1 51.8
f=
Rsa=(1-f) (1-f1)>
400.0
350.0 #
o
f1=0.3
300.0 fsoml 0 /
Rsa=50mm
250.0 .
~ .
g 2
200.0 4~
e 1=0.3
11.6 . fsa=1.0
150.0 1010 Rsa=58.63mm
- ’,/'H'ls.lo @ 8.8
100.0 s
" [ J . g H16}9
.8.13 A‘ilS.S A
50.0 H;ﬁ oo
15:7 0.7 Mo
y'AHls.B
_——[.9
0.0
0.0 50.0 100.0 150.0 200.0 250.0 300.0 350.0 400.0
(mm)




499.9 km’
Rsa( )
No am | @ | m | m | ® | m
001] S 62| 7| 17|19| 5|21|12 75.4] 30281473 60.6 14.8 80.3 21.2
002 S 63| 6| 1| 2| 5| 4|22 167.6| 76179043 152.4 15.3 90.9 21.8
003 H 1] 9 1| 2|21 4|13 143.0| 69187374 138.4 4.6 96.8 6.6
0041 H 2| 9| 16{/19|14|21] 7 94.7] 24193201 48.4 46.3 51.1 66.2
005| H 4| 8| 17[18| 8|21|17 124.5| 34703748 69.4 55.0 55.8 78.6
006 H 5| 6| 28/29| 1| 1|18 124.1| 45880230 91.8 32.3 74.0 46.1
007 H 5| 6| 28| 4|18| 6|10 99.7] 41641933 83.3 16.4 83.6 23.4
008 H 5| 8| 1| 2|/18| 4|10 74.5] 27694558 55.4 19.1 74.4 27.3
009 H 5| 8| 13|15 3|16| 4 72.8] 22618318 45.2 27.6 62.1 39.4
010 H 7| 5 10
011l H 7| 7| 2
012 H 8| 8| 26|27| 8/30| 5 167.5| 38060436 76.1 91.3 45.5 130.5
013 H 9] 7, 9
014 H 9| 8| 4
015] H 9| 9| 12{17| 0] 17|22 76.6] 14075158 28.2 48.5 36.7 69.3
016 H 10| 9| 21
017 H 10|10/ 13|16| 9|19| 3 175.2| 79349241 158.7 16.5 90.6 23.5
018] H 11| 6| 23|29|10| 30|14 192.1] 94972171 190.0 2.1 98.9 3.0
019| H 11| 9| 14|14|18|16| 6 87.0] 18711693 37.4 49.5 43.0 70.8
0201 H 15| 7| 12|13|13|15| O 49.5| 12408757 24.8 247 50.1 35.3
021 H 15| 8| 13|14| 9|17| O 109.0| 32792029 65.6 43.4 60.2 62.0
022] H 16| 8| 30
023 H 16| 9| 28|29| 6| 1|18 133.4| 40698735 81.4 52.0 61.0 74.3
024] H 16|10/ 18| 20| 9] 21|22 182.6| 72538648 145.1 37.4 79.5 53.5
f=
Rsa=(1-f) (1-fl)x=
400.
350. p
1=0.3 /
fsa=1.0 \ 2
300. Rsa=50mm X /
250.
2 P
g 2\
200' H11.6 P
’”Vy/ \\\ f1=0.3
S63,6 2@ @1‘0/6 ;Zg;élﬁ(.)S?mm
150. g K
Hl'?.’ H16.10
100. H5.6.28 'y ‘H16 9
i Hl‘ /‘ A PR
'y _1-’ ’,S'-A L e
50. H2.9
8.3 @9
57 O,
o
0.
0.0 50.0 100.0 150.0 200.0 250.0 300.0 350.0 400.0
(mm)
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